COOLING TOWER

5000 Series Tuf-Lite |

The Depot of All Cooling Towers
‘www.coolingtowerdepot.com

=
=z
p
5
=9
= W
-l wv
&< 2
- 2 o —
2 o c O []
=z = Q2 °
IS b=
= awn £
g2 <
o —
& T Z0
= E I
o= =™
Sl < S
[ pe—— 7] % 14 .E
"l O =
wn > o.- m
> oD
w2 o_.xT
¥ >
O zZs
Q2
= SO
- O oo
00
=3
o<g 3
a 8 =
frea) © O
oo
e 85
o=
N
[a]
=
T o
(1]
e
(2]}
=]
n—
-]
<
-
-
o3
(=]
iy
(=)
-
—
]
o
=
(2}
PROJECT NAWE THIS DRAWING IS THE SOLE PROPERTY OF COOLING TOWER DEPOT INC. USE SHALL BE LIMITED TO THE PROJECT FOR WHICH IT IS INTENDED. NO REPRODUCTION SHALL BE 5 2 3
AND LOGATION MADE NOR SHALL THIS INFORMATION BE MADE AVAILABLE TO THIRD PARTIES WITHOUT THE PRIOR WRITTEN CONSENT BY COOLING TOWER DEPOT INC. ANY AND ALL < s H
e PROPRIETARY RIGHTS TO THIS INFORMATION AND DESIGN ARE THE SOLE PROPERTY OF COOLING TOWER DEPOT INC. 5 o H
REVISIONS 3 H
orsonrron orso o | cveaxcoov. | seemoveor | o COOLING TOWER DEPOT, INC > i
. CORPORATE CIRCLE Z¢ 25
v HEEE1 s
DRAWING NUMBER, o8 nuwBER: seeT nev:
(%2 2
oo Y N GOLDEN, CO 80401 @ |-
3
wns NO SCALE | comoms - 720-746-1234 E -

Cooling Tower Depot | Corporate Circle | Golden, GO 80401 | Toll Free 877.243.3945 | Phone: 720.746.1234 | Fax: 720.746.1110




COOLING TOWER

5000 Series Tuf-Lite

The Depot of All Cooling Towers
‘www.coolingtowerdepot.com

NO. OF BLADES

TTEM DESCRIPTION TYPE PART. NO 6 7 ] S 10 T 2
32 Ft. & 32.8 Ft. Dia. Fans o1 Hub Assy. No. | 5806 5807 5808 5809 5810 5811 5812
4.25" thru 5.50” Diameter Shaft - Part No. 42450 42451 42452 42453 42454 42455 42456
33 Ft. Dia. Fans U Hub Assy. No. | 5806P2.25 | 5807P2.25 | 5808P2.25 | 5800P2.25 | 5810P2.25 | 5811P2.25 | 5812P2.25
4.25 thru 5.50” Diameter Shaft Part No. 42460 42461 42462 42463 42464 42465 42466
1| 4% Dia-Hub Plates for 32 & 32.8 U-1 Part No. cs283cG | 51167 | cs283cG | 61534 D5760 | 61525cG | cs283CG
50-25" Dia. Hub Plates for 33'Dia. | () 4 Part No. D5701 D5702 D5703 D5704 D5705 D5706 D5707
ITEM DESCRIPTION TYPE PART. NO QUANTITY PER ASSEMBLY
2 Hub Spool U-1 65058 1 1 1 1 1 1 1
3 Bushing U-1 Specify Bore 1 1 1 1 1 1 1

4 Blade Clamp Half, Powder Epoxy Coated Die D5131

Cast Alum. (Standard)
Option 1: Powder Epoxy Coated Ductile Iron** 6%%9113% 12 14 18 18 20 22 24

Option 2: Coal Tar Epoxy Coated Ductile Iron**
Blade Clamp Bolt 3/4”-10 x 10”

5 | (Grade 8 EcoGuard®) 42404 24 28 32 36 40 44 48
6 | 3/4” Lock washer (EcoGuard®) 42405 24 28 32 36 40 44 48
7 | 3/4” Flat washer (EcoGuard®) 42406 48 56 64 72 80 88 %
8 | Hex Nut 3/4”-10 (EcoGuard®) 42407 24 28 32 36 40 44 48
9 | Hub Spool Cap Screw 5/8"-11 x 1 1/27(316 SS) 72402 16 16 16 16 16 16 16
10 | 5/8” Lock washer (316 S9) 73731 16 16 16 16 16 16 16
11| 5/8" Flat washer (316 SS) 73719 16 16 16 16 16 16 16
12| Pin, Grooved, 1/2" X 1-1/2 74540 4 4 4 4 4 4 4

13 | 76” Diameter “K” Seal Disc Kit * D5938 1 1 1 1 1 1 1

14 | Tuf-Lite IV° Blade (Black) (Varies) 6 7 8 9 10 11 12

* Includes all hardware (316 SS) to assembly and mount.
** Recommended on concrete and round towers, or corrosive environments. Contact Hudson for pricing.

STANDARD MATERIALS & FINISHES

Blades: Fiberglass reinforced vinyl ester Blade Clamps:

Hub Spool: Ductile Iron, Coal Tar Epoxy coating Epoxy Powder Coated Die Cast Alum (Standard)
Plates: Coal Tar Epoxy coated steel Epoxy Powder Coated Ductile Iron (Option 1)
Bushing: Malleable Iron Coal Tar Epoxy Coated Ductile Iron (Option 2)
Seal Disc: Fiberglass Reinforced Polyester Fasteners:

Grade 8 (EcoGuard®)
Complete Fan with K500 Monel (Option 1)

WHEN ORDERING, SPECIFY FAN DIAMETER, TYPE & NUMBER OF BLADES & SHAFT DIAMETER
EXAMPLE: [ APT — 32M —

Fan Model Fan Diameter & Blade Type Number Shaft Diameter
. . . . ®
Adjustable Pitch (Specify “M” for Tuf-Lite IV Blades) of Blades
PROJECT NAWE THIS DRAWING IS THE SOLE PROPERTY OF COOLING TOWER DEPOT INC. USE SHALL BE LIMITED TO THE PROJECT FOR WHICH IT IS INTENDED. NO REPRODUCTION SHALL BE 5 2 3
AND LOGATION MADE NOR SHALL THIS INFORMATION BE MADE AVAILABLE TO THIRD PARTIES WITHOUT THE PRIOR WRITTEN CONSENT BY COOLING TOWER DEPOT INC. ANY AND ALL < s H
e PROPRIETARY RIGHTS TO THIS INFORMATION AND DESIGN ARE THE SOLE PROPERTY OF COOLING TOWER DEPOT INC. F ° 2
orsonrron orso o | cveaxcoov. | seemoveor | o COOLING TOWER DEPOT, INC » i
o CORPORATE CIRCLE 3¢ flo
v HEEE1 s
A-100 1.1 0 2 GOLDEN, CO 80401 o |-
wns NO SCALE | comoms 720-746-1234 z |-
¢ m

Cooling Tower Depot | Corporate Circle | Golden, GO 80401 | Toll Free 877.243.3945 | Phone: 720.746.1234 | Fax: 720.746.1110




